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THE UNITED REPUBLIC OF TANZANIA
NATIONAL EXAMINATIONS COUNCIL ,
ADVANCED CERTIFICATE OF SECONDARY EDUCATION
EXAMINATION

AGRICULTURE 2
(For Both School and Private Candidates)

Time: 3 Hours
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e Friday, 10* February 2012 p.m. ‘

Instructions

Fhes paper consists of tem (16) QuUESIoNs 1 soctions A and B.

Answer five (5) guestsons choosmng at least twe (2) quest:ons from each section.

Fach guontzon carmes fwenty (20} marks

Cellular phomes are met aliowed in the CARMINANON 1ONM

Wrte your Examinatios Number om cvery page of your answer booklet(s)
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3 (i)  Dipa mmmmmwmmmﬁ «
difficult to control. Justify this statement by giving two seasons in d

4
(iii)  State two control measures of Diparopsis castanea. 2 |
4. (@) (i)  Whatdo you understand by the term heterosis? B (1 mark) ‘-
V (i)  Giving an example, briefly explain the beneficial apphication of mutation in

agriculture. (2 marks)

(b) ()  InMendel's experiment on crossing two varicties of beans, he chose round and

y wrinkled sceds with yellow and green colours respectively. R 15 a gene ‘f"'
round and r is a gene for wrinkled whereby Y is a gene for yellow and y is a

gene for green. When homozygous round and yellow seeds were crossed (o

wrinkled green seeds, the resulting F, generation were all heterozygous ro'fﬂd ;I_Ei
yellow sceds. Use punnett square 1o determine the phenotype in ¥y generation
when Fy individuals will breed among themselves. 3]'
: ) (9 marks) 1
(i)  State four assumptions in genetic segregation. (4 marks) .
(c) Explain briefly two advantages and two disadvantages of progeny testing. :
(4 marks )
[ PN 5. (a)  Blastis a common disease that infects paddy. Account for the discase using the
. following guidelines:
EE- (1) Causative agent.
(1)  Symptoms.
e (i)  Control measures. (5 marks)

Briefly describe five symptoms of viral infections in plants. (5 marks)

e Ry

(1)  Define the term epiphytology. (2 marks)
(ii)  Briefly explain four factors that influence the occurrence of epiphytotic
diseases in the field. (4 marks)
:r_j -
d) Bemisia tabei is the vector of several crop diseases in Tanzania. Name two discases ‘ £
¢ that are transmitted by the vector and suggest three control measures for the vector. '
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o Accaant for five drsadnanages of natursl vating W cavtle
@) Brefy oxplaim four Rmctons of oo s Tepradiciive £ SRS

Difforontiate betwoon CarTyimg SEpaciy and stockmg T
von arca of pastare

L) Examime throe effocts of overstackmg W a &
. E (3 marks)
G Bxplain briefly four advantages and thiee Siadvantages of zer0 grNg
(7 marks)

(stall foodmg) system.

pportant 1w a pastare.

(6 marks)

Bricfly oxplam six ways m which ErasS-IoguATic TRIRTITE &S |
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